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Questlon 1 (10+10= 20 points)

Let I1 be the plane through the points A(1,0, —5), B(2, 3,9), and C(—2,1, —17).

a. IFind an equation for the plane IL
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b. Find the angle § between the plane II and the line passing through A and
D(1,1,1).
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Question 2 (104-10=20 points)
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a, Find the interval of convergence of the series z (3:_—;3?1)__
4rys - n=1
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Question 3 (8+8+8=24 points)

Evaluate the following integrals
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Question 4 (20 points) |
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Let f(z) = f e *'du. Find the least positive integer n for which you can

0
prove that the Taylor polynomial P,(z) of order n generated by f(z), at
x == 0, approximates the function f(z) on the closed interval [0, 1] with an o

-
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error less than 107°. : Pt
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